22A 22B N o
1) 22X+ 1 9) (2X+3)(X+3) 1) 2X+ 5 9) (2X +3)(X +5)
x X+ 1 Drawings for #9-16 are not shown. x X+ 1 The student should continue to
TTToxa 1 The student should continue to build the T X158 build the problems as illustrated at
X+1 + problems as illustrated at left. X+1 w left. S ——
2X2 + X 2X + 3 2X2 + 5X 2X + 3
2X2 +3X + 1 X  X+3 : OX2 4+ 7X + 5 X X+5
2X +1 6X+ 9 B %G 10X+ 15
2) 3X + 1 oX2 43X 2) (5X+2)(X+3) 5X + 2 2X2 + 3X
x X+ 4 e BRiE X &9 X2 + 13X + 14
Wn 2 +9X +9 15X + 6 2X2 + 13X + 15
X+4 3X2 4 X 10) (@X+1)(X +2) 5X2 + 2X 10) 5(X+7)(X + 3)
= e ax + 1 X+ 7
2 5X2 + 17X + 6
3X2 +13X + 4 X X402 +* X« X+3
3X +1 —_— 3) —_—
8X + 2 2X + 1 33X+ 21
3) 4X2 48X +4=4(X2+2X +1) X 41 4X2 + X X X+5 X2 + 7X
X X41 4X2 + 9X + 2 X 45 10X + 5 X2 + 10X + 21
2
o X+ 1 1) (@ X +2) L k2, 1) B(X+ 4)(X +2)
X2 + X 2
_Xe+X 3X + 4 2X2 + 11X+ 5 X+ 4
X2 +2X +1 x X+2 2X +1 x X+2
_ 4) (4X+1)(X+3 _
kil 6X + 8 ) xR s 3) ‘”;*; 2X+ 8
4) 2X + 1 3X2 4+ 4X AL X2 + 4X
x X+5 T ICT—— 12X + 3 e E AN
& a2 2 2
X B 3X2 + 10X + 8 4X2 + X X2 +6X +8
X+5 2X2 + X 12) 2(X2 + 7X + 10) = 2(X + 2)(X + 5) 4X2 + 13X + 3 12) (83X +8)(X+2)
X+ 2 3X+ 8
2 2 -
2X2 + 11X + 5 % X485 5) 2(X2 + 8X + 15) = 2(X + 3)(X + 5) s g5
2X+1 5X + 10 g X+ 5 6X + 16
5) X2 + 2X H X X+ 3 3X2 + 8X
2X+ 3 —— —_ - -
X X+ 6 X2 +7X +10 3X +15 3X2 + 14X + 16
— g X +5 X2 + 5X
g 12X + 18 13) (2X + 1)(X +3) o B 13) 2(2X + 1)(X + 3)
X% 2X2 + 3X 5% 4 X2 4+ 8X + 15 - A
2X2 + 15X + 18 X X+3 X+3 X X+3
2X +3 6X + 3 6) 3(X2+3X +2)=3(X+ 1)(X+2) 6X + 3
8) 3X + 1 2X2 + X >><(+; 2X2 + X
X X+2 2X2 + 7X + 3 X—2X—+—2 2X2 47X + 3
6X + 2 X+2 +
X+2 S5 1 X 14) (4X +3)(X +1) X2 4+ X 14)  (5X + 2)(X +1)
e 4X + 3 T o AN B 5X+ 2
3X2 +7X + 2 b X2 43X 42
7 FFFA + 7) 2X+ 9 + 2
) ] ) 2>)<(:~Z 4X2 + 3X X X+1 5X2 + 2X
X 42 T aX+10 4X2 +7X + 3 X+1 - §>)§+9 5X2 + 7X + 2
2X2 + 56X 15) (2X + 9)(X +2) ‘ ——21— 15) (10X + 1)(X + 1)
2X2 + 9X + 10 ‘ 2X+ 9 2X +9 REH TR 43 10X + 1
2X+5 . x X+ 2 8) x  X+1
8) 4X2 + 10X + 4 = 2(2X2 + 5X + 2) X+ 18 X+ 2 X+ 1 g
2))((+ 12 X2 + 9X X X+ 7 10X2 + X s
X + T —_——— _— o
e 2X2 + 13X + 18 21X + 14 10X2 + 11X + 1 2
_p 4X + 2 X+7 3X2 + 2X N
2X2 + X 16) (3X +4)(X +3) —_ 16) (4X + 3)(X + 5) NS
e (Check as above) 3X2 + 23X + 14 (Check as above) >
2X2 + 5X + 2 ;
2X + 1 3X+2 N
N
w




22C

1) BX+4)(X+1)

X+ 1

2) (2X+3)(X+2)

3X+4

X+2

2X +3

3) 2X2+8X+6

X+3

2X +2

4) 2X2+8X+8

X+2

2X+4

5) (BX+4)(X+3)

6) 3X +
+

3X2 + 4X
3X2 + 13X + 12

7) 4(X2 +6X +9) =

8) X +3

4(X + 3)(X + 3)

x X+ 3

3X +9
X2 + 3X
X2 +6X +9

9)

10)

11)
12)
13)
14)

15)

16)

17)

19)

2X + 1)(2X + 3)

2X + 1
x 2X + 3

6X +3

4X2 + 2X
4X2 +8X + 3

B2+6-5 = B3

AB+C

X-3Y2X-1Y3X5 = XY5
ASA-2B1B2A-4 = A-3B3

6 x 1,000,000 + 8 x 10,000 + 2 x 1,000
+7x1100 =
6,082,000.07

Y=32X-1

see graph

m=3/2

(4) 3/2(0) +

=4

Y 32X+4 or 3X-2Y=-8
see graph

#17  #16
|

4

h4

[/
/

4

—hrs |

rs
1
2 22
3
4

20) 6hours =26

X hours = 2X

22D

1) (BX+5)(X+2)

9) (X+3)(X+2)
10) X3
X+2 X X+2
2X +6
X2 + 3X
3X+5 X2 +5X +6
2) 2(2X2 + 5X +2) = 2(2X + 1)(X + 2) 1) C44340 = A
12) 85-3=82
X+2
13) BSB2C-5B4C3 =B11C-2
A 14) D6C-4D2D4COC-2 = C-6D12
15) 8x 104 +6x103 + 9x 102 + 4 x 101
3) 3X2+9X+6
16) Y=2/3X+2
see graph
X+2 17) m=2/3
(-8) =2/3(-3) + b
b =-1
=2/ X-1 or 2X-3Y=3
3X+3 ee graph
4)  6X2 +3X Y #16
3 A
/r
L~ #17
'/
'/ /
< < X
2X + 1 LA
LA
e
P
=
3X
5) (BX +5)(X + 1) 18)  weeks | dollars
2 $9
6) 3X + 5 3| s27
X X+ 1 4| $81
3X+5 5 18243
3X2 + 5X
3X2 £ 8X + 5 19) week13 dgl:ars
7) (@X+7)(X + 1 2| 82
( ) 31 33
8) 4X + 7 41 34
X X +1 5] 35
4X +7
aX2 + 7X 20) 20 weeks = 320
4X2 4+ 11X+ 7 = $3,486,800,000 (May be shown

on your calculator as 3.4868 x 109)

dce - Oce suonnjos



22E

1) (@X+3)(2X +3)

2X+3

2X

+3

2) 2(X2 46X + 8) = 2(X + 4)(X + 2)

X+2

X+4
3) 2X2+4X+2

X+1

2X
4) 2X2 + 14X +20

+2

X+5

2X +4

5) (4X +3)(X +2)

6) 4X + 3

x X+ 2

8X +6
X2 + 3X

4X2 + 11X + 6

7) (@X +1)(X +5)

8) 2X + 1
X X+5

10X +5
2X2+ X

2X2 + 11X +5

G

9)

10)

11)
12)
13)
14)

15)

16)

W\’E‘\ 17)

20)

X+ 3)(X+1)
X+3
x X+1

X+ 3
X2 + 3X

X2 +4X +3

B2+6-502-5 = B3C -3

Y5+A

D8C-3A-2A0D7C-2 = A-2C-5D15

ASD-6A-7C3D8 = A2C3D2

3x 100,000 + 5x 1 +2x 1/100

+8x1/1000 =
300,005.028

Y=-4/5X+2
see graph

m =5/4
( 2) 5/4(1) +b

Y 5/4X 13/4 or 5X-4Y =13

see graph
Y
#17
< n
N
N
AWV
A &
#16
,/
/|
day |grams
1 5
2| 25
31125
41625
day |grams
1] 51
2| 52
3| 53
4| 54
8 days = 58
Y days = 5Y

23A

1) (X-

5)(X-2)

X-5

-6)(X- 1)
| s

X- 5
Xx X- 2

22X + 10
X2 - 5X

X2 -7X +10

-4)(X-3)
X2 -7X + 12
X-4
-8)(X-1)
ey X -8
X X-1
X+8
X2 - 8X
X2-9X +8
X-8
-7)(X-3)
: X-7
X X-3
-3X + 21
_ X2 - 7X
U_mt X2 - 10X + 21
X-7
-9)(X-3)
: X-9
x X-3
-5X + 27
X2 -9X
X2 -12X + 27
X-9

(X-5)(X-6)

13) (X +6)(X-

14) (X-9)(X +4)

X-5

x X- 6
-6X + 30

X2 - 5X

X2 - 11X + 30

-10) X- 9

X X-10
-10X + 90
X2 -9X

X2 -19X + 90

(X-11)(X - 3) X= 1

x X- 8
-3X + 33
X2 - 11X

X2-14X+33

(X +7)(X-3)

X +7

x X-38

-3X -21

X2 4+ 7X

X2 +4X - 21

X+7

X -5) Continue to check by

multiplying.

15) (2X +1)(X-5)

2X +1

16)  (2X - 3)(X + 4)

X+4

2X -3

V€¢ - 3cc suonnjog



3E

1) 2X+7+8X-4=10-1
X+3=9
X=6

2) 3Y+8-2-2Y=9-44+5
Y+6=10

3) 2X-2+7

c>
s

4) -2B+3+5B+1=2(3+2)+9
3B+4=2(5)+9
3B =19-4

6) 5X+5-X-3=8X-X+4(2)
4X+2=2X+8
2X=6
X=3

7) 2Y-4+Y +9=-2Y-4+4Y + 11
3Y+5=2Y+7
3Y-2Y=7-5
Y=2

8) -4Q+2+5Q+2=3Q-6
Q+4=3Q-6

9) (7-32x B-7k
(42 x 4l=16x4 =64

10) 8+(5+4)2x2+112=
8+92x2+121=8+81x2+121=
8+ 162 +121 =291

11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

(4x8-6+32)+(3-6-72x3+4)=
(4x8-6+9)+(3-6-49x3+4)=
(32-6+9)+(3-6-147 +4) =

35 + (-146) = -111

(15-6+82+3+3)-(10+92-40:8) =

§15-6+64+3+3)-(10+81-40+8)=

15-6+64+1)-(10+81-5)=
74-86=-12

6
6 (two decimal places in
answer)

(-19)(6) =-114

-62 =-(6)(6) = -36
[ (6)]=-1+61=-6
T-(B)=-7+3=-4

3,6=2x3,8=2x2x2,
soLCM =2x2x2x3=24

8 T 8. 2 , 4 1
Wt s e

21 +16X =4, 16X= -17, X=-11/16

10 =10, 100 = 10x 10

LCM =10x 10 = 100
100(.08X) - 100(.6) = 100(.75)
3X-60=75

3X =135, X =45

9)
10)
11)
12)

13)

14)

15)

16)

18)

3) = 5(4) + 5(3) 1) 8(5+2) =8(5) + 8(2)

6(2 + 3 1= 6(2) + 6(3) + 6(1) 2) 5(4-3+2)=5(4)-5(@)+
7(A+B)=7A + 3) 9(C+D)=9(C) +9(
3(4C + 3B) = 3(4C) + 5(2C + 4D) = ) + 5(4D)

52X +3Y -3 +4X) =
5(2X) + 5(3Y) - 5(3) + 5(4X)

3(X) + 3(Y) + 3(4X)

)=

8(A + 3B + 8 + 4A) = +(-2)(2Y) + (-2)(Y)

8(A) + 8(3B) + 8(8) + 8(4A)
+12Y = 4(2X + 3Y)
6X +B6Y =6(X +Y)
7X-21Y =7(-X - 3Y) or -7(X +3Y)
8A + 16B = 8(A + 2B)
18A + 24B = 6(3A + 4B)
14X + 21Y = 7(2X + 3Y)
8X +10 =16

-2M - 6N = -2(M + 3N) AR} =)

6B + 18C = 6(B + 3C)
15X + 10A = 5(3X + 2A)

5X +15=45
S(X +3)=5(9)
X+3=9, X=6

10X + 16 = 26
2(5X + 8) = 2

18Y + 27 =45

X+B=1y 9(2Y +3) = 9(5)
2V +3=5,
13\(. +39Y =52 2Y=2, Y=1
+3Y) = 13(4)
4
Y=112 15) 15X - 10+ 5X = 25

5(3X - 2 + X) = 5(5)
4X=7, X=13/4
8A-10-6A=14
2(4/-\ 5-3A)=2(7

16) 9C-6-12C =18
A-5=7, A_12 D =
-C-2=6, -C=8, C=-8
12X + 21 =30
a2 Tl Sit) 17) 14M - 42 + 56M = 28
4X +7=10 . ]
4X =8, X=3/4 g&(M3=32+4M)_14(2)
5M=5 M=1
8X - 28 =12
UK T)m(8) 18) 6A-16-4A =20
2X-7=3 2
2X=10, X=5 2(3A - 8 - 2A) = 2(10)

A-8=10, A=18

gp - 3€ suonnjos



